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OEAl AHIAMK (E4A .2 22Hl) A
14,300 = 1,310CH ~ 12& 224,796
403 XX SHHS K20 & 89,000 0 89,000
02 BI2SOHUSXA2E S AFEHI 89,000 0 89,000
OSA SHHSBRINAY 25
89,000,000 * 14! 89,000
EHAIZ R K& 1,020,000 201,000 819,000
= 117,000
Al 903,000
ot A= 1,020,000 201,000 819,000
= 117,000
Al 903,000
11 JIEtE A2 1,020,000 201,000 819,000
OEAIZX EAXA 13,000,000 = 30CH 390,000




A= 2o = A==
Hu: QAEA NSEY 7E
S HSnsSAY 243 (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
= 117,000
Al 273,000
OEAIZ X S& XA (AHIFIH)
21,000,000& * 30CH 630,000
Sguss== 29 & 688,000 555,000 133,000
201 £B-2%H| 18,000 15,000 3,000
02 =24l 18,000 15,000 3,000
OSguUsEsH NSERAL(BER)
1,200,000& * 150K 18,000
307 gl2tol & 670,000 540,000 130,000
05 RIZtRE = 670,000 540,000 130,000
OoIzt &2 167,500,000& = 42 7| 670,000
SHEXNS S LEA| 14,000 14,000 0
< 7,000
Al 7,000
301 et d = 14,000 14,000 0
= 7,000
Al 7,000
NMIIEEd= 14,000 14,000 0
OSIYEA 28 =424 14,000,0008 * 14 14,000
< 7,000
Al 7,000
HBETISIEHDOE SAMLAY 434,000 0 434,000
< 217,000
Al 217,000
402 212t X201 & 434,000 0 434,000
< 217,000
Al 217,000
02 RIZt X2 AL EZ (OIS ) 434,000 0 434,000
OAHA HOIE SEMHEAY
326,000,000 » 14 326,000
= 163,000
Al 163,000
OLNEHA HOIE SEMHEAEY
108,000,000& * 1A 108,000
= 54,000
Al 54,000
ZABIS N&A A 397,000 0 397,000
= 119,100
< 119,100
Al 158,800
403 MtXISHE X201 E 397,000 0 397,000
= 119,100
< 119,100
Al 158,800
02 SO 2SOH SR E X HE At B 397,000 0 397,000




ol2tE &
HaEsnsSAy 2435 )
= - — SHE|
2. 2A B E(AN) - MEAY - BYS e 2
OZIHAHEAAE(BIS) 2EAY
397,000,000& * 14 397,000
= 119,100
< 119,100
Al 158,800
EEAI 2B AR K& A 30,000 0 30,000
< 15,000
Al 15,000
402 2I2H X201 M 30,000 0 30,000
< 15,000
Al 15,000
02 QI E2AL EZ (OIS ) 30,000 0 30,000
OHAN2F=ZALA HMBACHHET B2 ALY
30,000,000& * 14 30,000
< 15,000
Al 15,000
HE2IHH (S) 24,140 24,140 0
JlEZl 24,140 24,140 0
Jl2&l 24,140 24,140 0
201 Let24d] 6,200 6,200 0
01 At 2teltl 6,200 6,200 0
O+t 6,200
cHFAREEHI 200,000& = 12& 2,400
SAMNRINALEZEFY 250,000& = 123 3,000
= JIEt==EHl 800,000& * 14 800
202 oddl 13,320 ,320 0
01 = LH o4 1l 13,320 ,320 0
OJl2gse =380y 90,0003 = 37" = 43| 13,320
203 YR =&Y 4,620 4,620 0
04 BEN2IERFLY 4,620 4,620 0
ORA2EIRFA 385,000& = 12& 4,620
HEags(nsi) 646,702 ,585 33,117
HEAHHK = 646,702 ,585 33,117
LHEHH X = 646,702 ,585 33,117
701 JIEtSI HENMES 646,702 ,585 33,117
01 JIEtl AN ES 646,702 ,585 33,117
OUSELEIAH(ZAANEANZ) 8523
6,467,015,910& * 10% 646,702




N = 0l & At & Ml A

A= 2o = FM I HSEAED
Mo SIS
ol HEHS S4 CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
M=E=d32ED 10,946,219 11,373,424 NA427,205
J| 595,228
< 223,739
Al 10,127,252
R 9,558,449 10,084,910 526,461
J| 319,718
< 217,464
Al 9,021,267
HE2HE |4 6,641,977 5,804,976 837,001
=3 XA 882,632 812,840 69,792
301 et a =z 385,552 400,940 A 15,388
MIIEE4d3 385,552 400,940 A 15,388
OLEANAMES 293,037
o024 H| 193,546
AR=F 46,668,000 » 1H 46,668
AREF 2,599,200& * 2% * 123 62,381
- YERAA 2,395,700& » 2% » 128 57,497
2+ 1,500,000& * 5% * 23 15,000
ESE=3EN 200,000& = 5H = 123 12,000
o=l =4 34,040
- IS A
2,490,000% = 1/30 = 5% » 20 8,300
HE SO
2,490,000& = 60% » 5% * 23] 14,940
s 50,000& = 5% = 12& 3,000
= Al 130,000& * 59 = 128 7,800
oN2e 2REY
9,300& = 20AI2t » 6 * 128 13,392
oAE REYS 26,959
=20= 247,000,000& * 4.5% 11,115
HLEE= 247,000,000& * 3.06% 7,559
QAR AEER 7,681,000& * 6.55% 504
nE28= 247,000,000& * 2.15% 5,311
MTHEE S 247,000,000& * 1% 2,470
o &l A MYz 251,000,000 * 10% 25,100
OXHOH =32 92,515
= QI 64,178
CANR=E 38,000,000& * 14! 38,000
AR 1,916,700& * 1¥ » 123 23,001
d2=g 1,916,700& * 50% * 23| 1,917
Mg Bl 105,000& » 1 = 128 1,260
o =gl =4l 5,139
o1 D2 A | 1,916,700& = 1/30 * 20 1,278




N = 0l & At & Ml A

A3 2EAY= A HsEL2ED
HH: YRS
Sl 2N 54 EERED
- _ — d =
SN P SAGEH) - HRAY - BYS 0l &k o4 e HlnE2
YEFOH 1,916,700& * 60% * 23| 2,301
= 2l Hl 130,000& = 18 = 128 1,560
oA TRLY
9,640& * 20AI2t » 2 * 128 4,628
oAET REYS 18,570
S0z EER 73,944 ,000& = 4.5% 3,328
HLYEE= 73,944 ,000& * 3.06% 2,263
- RAEEE 73,944 ,000& * 6.55% 4,844
M EE R 73,944,000 * 1% 740
SRS 73,944 ,000& = 10% 7,395
307 QI2H0| & 497,080 411,900 85,180
02 IAtFAAHE X 461,680 382,500 79,180
OS2I A4MPE X 461,680
oM=3 MY X=X HHXIALS
2,030,000& = 13% » 128 316,680
o0t 2el 15,000,000& * 23] 30,000
o2 d+ 54 ¥ StuE FH
60,000,000 = 14l 60,000
oHSHEE 29 5,000,000& = 14l 5,000
oZlagy Axx EEC XA
50,000,000& = 14 50,000
03 BIAHMNHE2IHIEL 35,400 29,400 6,000
O =2l 35,400
ocAEANMEE AR= 29
1,200,000 = 12& 14,400
o2 EANN=3 HRESH 21,000
SARE 1,500,000 = 12& 18,000
CAE=FE 250,000& = 12& 3,000
F2sdIR 24 4,770,694 4,077,165 693,529
101 @124l 26,369 19,526 6,843
04 JI2ZtHZ22HEE = 26,369 19,526 6,843
O=+7=7 g4 2 26,369
=lleg 54,900& * 18 = 230 12,627
oFi=xg 54,900& = 1% = 46 2,526
oA+ 54,900& * 1% = 11 604
oxdd 54,9003 = 150% * 62 = 11& 5,436
oAt 2RE
10,300& = 40AI2+ » 113 4,532
cNEMUMEEE 25,725,000& * 2.5% 644
201 Lt 50,000 50,000 0
03 A2 I 50,000 50,000 0
OUuAMdegEela 321 2 50,000,000& = 14! 50,000




A= 23aE= SAHSELEN
Mo SIS
ol HEHS S4 CER-ED
.24 B GH(3AH) - KR - BES of 4 o4 il HI RS2
202 o4 4 10,080 10,080 0
01 =L 10,080 10,080 0
OuMEe D 8 g2 S ofyl
20,0003 = 3& = 143 » 12& 10,080
301 LetE A= 4,524,245 3,902,559 621,686
noizsta - 2S4S 4,524,245 3,902,559 621,686
Oxx%7 2,520,159
=1t 1,150,000
gd= 60,000,000& = 1& 60,000
2 45,000,000& » 1& 45,000
EdlolH 40,000,000& » 1& 40,000
Mg Edold 35,000,000& = 1 35,000
8 d= 45,000,000 * 49¥ 180,000
A d= 40,000,000& * 69 240,000
Bg &= 35,000,000& * 6% 210,000
-Ca d= 30,000,000& = 8% 240,000
I =Fake 25,000,000 * 49¥ 100,000
o4l 22 158,159
-=UH=2EE  1,449,600,0008 * 4.5% 65,232
JdZEE = 1,449,600,000& * 3.06% 44,358
FVRALEE 44,358,000& * 6.55% 2,906
NEZE= 1,449,600,000& * 2.15% 31,167
ATHEE = 1,449,600,000& * 1% 14,496
o& X NE=s 1,449,600,000& = 10% 144,960
oX&xd 9,600
ad= 300,000& = 1 » 12& 3,600
X 200,000& » 1 » 12& 2,400
Edold, MEEdoH, Sdd 2
100,0008 * 3% « 123 3,600
oselsd 230,000,000& * 14 230,000
oLz 15,000,000& = 23] 30,000
o Y 30,000,000& = 2H 60,000
o224 12,000,000& * 14 12,000
odXlE&Hl 100,000,000& = 14 100,000
o =& 140,000,000& = 14! 140,000
of&XZ (=) 13,000,000& = 14! 13,000
cE2HES 174,000
o=l 120,000,000& = 14! 120,000
WE=g=3=} 20,000,000& » 14 20,000
o= 6,000,000 * 14 6,000
S+ 20,000,000& 14 20,000
Mol 8,000,000& = 14! 8,000




A= 2o = FM o HEEAE]
g s
Sel MRHE S4 CERED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
o g (24l 176,640
= 2l Hl 21,0003 = 328 230 154,560
Z2HAIH] 3,000 = 32% = 230¢ 22,080
cZ23R= 15,000,000& * 14 15,000
o ZHHl & XHhl 1,000,000& * 12& 12,000
o AHY 3lH| 40,000,000& = 14 40,000
o2 2| 5,0008 * 32% * 230 36,800
o U2 AH| 18,000,000& * 14 18,000
os4aR 706,086
SE=10 370,000
= 45,000,000& = 14H 45,000
£E2 d= 45,000,000 = 29 90,000
AS d== 40,000,000& = 5H 200,000
B2 M= 35,000,000& = 1 35,000
o4 EEE 45,606
SUHASEE = 418,000,000& = 4.5% 18,810
- HYEEE 418,000,000& * 3.06% 12,791
S ZAJLEERE 12,790,000& * 6.55% 838
E=3h=-=d 418,000,000& * 2.15% 8,987
MTHEE = 418,000,000& * 1% 4,180
oEl A MY F 418,000,000& = 10% 41,800
SPNE=E =, 200,000& = 1H » 123 2,400
ocEdE 200,000 = 9% = 12& 21,600
o=xJltHE+¢ 500,000& = 2H = 123 12,000
oE8g 18,000
ZAS 18,000,000& * 14 18,000
oc=#H2dH| 6,000,000& * 14 6,000
ofsda FAUH 20,000,000& = 14H 20,000
o MAE&EH 30,000,000& * 14 30,000
o &MY 30,000,000& 14 30,000
o2 AXZHI(2ZHl) 5,000,000& = 14 5,000
CEHES 30,000,000& * 14! 30,000
o Z(2H) Al 49,680
= Al 21,0008 = 9 * 230 43,470
Z2HAH| 3,000& = 9¥ =« 230¢ 6,210
o ZHHl & Xl 1,000,000& * 12& 12,000
c23R= 7,000,000& = 14 7,000
o HE 3l 2,000,000& = 14 2,000
o BRI 3,000,000& = 14! 3,000
ogas 569,215
SE=10 285,000
= 45,000,000& » 19H 45,000
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s2 d= 45,000,000& = 2¥
A == 40,000,000& « 29
B2 &= 35,000,000& * 2H
o4l EEE
=HS3EER 322,200,000& * 4.5%
A2 EEE 322,200,000& = 3.06%
NALEE 9,860,000& * 6.55%
IEEE= 322,200,000& = 2.15%
SHEES 322,200,000& * 1%
o&l X HNE3 322,200,000& * 10%
oXNE=g 200,000& » 1€ = 128
oz 200,000& = 78 = 12&
o=JtlHE =¢ 500,000& » 1€ = 128
oSgExd
za=3 12,000,000& = 14
o224 6,000,000& = 14
oM Xl E&EH 18,000,000& * 14
o E & 15,000,000& * 14
oRAXZHI(2AZHl) 5,000,000& = 14|
cE2HESHI 27,000,000 * 14l
o Z(2h)All
=4l 21,0008 = 78 * 230
Z2HALH] 3,000 * 79 2302
3323 3,000,000& =+ 14l
oA HE 3lH| 2,000,000& = 14|
ocddEU2= 45,000,000& = 14l
cUANE=A JIHI(MS)
1,000,000& = 12&
o &l | XHl 6,000,000& = 14|
od B2l 2,000,000& = 14
RER
SE=10
= 45,000,000& » 1&
£E2 d= 45,000,000& » 2
A == 40,000,000& = 1&
B2 &= 35,000,000& * 1H
o4l EEE
=0H3EER 236,400,000& * 4.5%
ALEEE 236,400,000& = 3.06%
NALES 7,234,000& * 6.55%
ez 236,400,000& = 2.15%
SHEES 236,400,000& * 1%

90,000
80,000
70,000
35,155
14,499
9,860
646
6,928
3,222
32,220
2,400
16,800
6,000
12,000
12,000
6,000
18,000
15,000
5,000
27,000
38,640

33,810

4,830
3,000
2,000

45,000

12,000
6,000
2,000

437,433
210,000
45,000
90,000
40,000
35,000
25,793

10,638
7,234
474
5,083
2,364

=

i
2m




222 = M HEsEAED
==
HEeHs sS4
K- B8-S (3H) - HRAY - By S O 4t o8 il
oA NMNYS 236,400,000 * 10% 23,640
oXNlE & 200,000& ~ 1€ * 12& 2,400
ozd4¢ 200,000& = 5™ * 12& 12,000
o=xIJIE ¢ 500,000& * 1€ * 12& 6,000
oS8 4G 6,000
ZAZ 6,000,000& = 14 6,000
o4 FH| 30,000,000& * 1 30,000
o= 2%l 6,000,000& = 14 6,000
oM Z&| 20,000,000& * 14 20,000
o E&H| 12,000,000& * 14 12,000
o 2 AKX 2 H|( 3,000,000& = 14! 3,000
ocZEHEEHI| 25,000,000 = 14! 25,000
o Z(2H) Al 27,600
= AH| 21,0008 = 5¥H x 230¥ 24,150
2HAH| 3,000& = 5¥ * 230 3,450
ocss5R3 6,000,000 = 14 6,000
oAl HE 3IH| 2,000,000& = 14 2,000
o &Hl R 6,000,000 = 14! 6,000
o &H| 28| 12,000,000& * 14 12,000
o UHtRAY| 2,000,000& = 14! 2,000
SO AL S 291,352
SR=10;] 125,000
Eg d 45,000,000& = 1&H 45,000
A &= 40,000,000& * 2H 80,000
o4l BE8= 18,572
- =202 EEE 170,200,000& * 4.5% 7,659
ALEE 2 170,200,000 * 3.06% 5,209
IABES 5,209,000& * 6.55% 342
nagsgas 170,200,000 = 2.15% 3,660
MIHEE 2 170,200,000 * 1% 1,702
o gl NEYS 170,200,000& * 10% 17,020
ozd4¢ 200,000& * 3™ * 12€& 7,200
o=xJIlE ¢ 500,000& * 3% * 12& 18,000
oS8 4G 20,000
A= 20,000,000& * 14 20,000
oZ=d 9| 6,000,000 = 1A 6,000
oM Z&| 10,000,000& = 14 10,000
o &MY 20,000,000 = 14! 20,000
o B2 AXIZ2H| (2 24]) 5,000,000& * 14 5,000
o= &3l 15,000,000 = 14! 15,000
o2 (2H)AlH| 16,560
= Al 21,000& = 3% x 230¥ 14,490




222 = S S (== A ]
HEed=s
HEME 24 (e &)
SH-EB .S (3H) - MEAY - BAS 0 AF o il HDS2
2HAH| 3,000& * 3¥H * 230« 2,070
o332 4,000,000 * 14 4,000
oA NHE F I 2,000,000& * 14 2,000
o &Hl || 5,000,000& * 14 5,000
oA Y| 2,000,000& * 14 2,000
401 Al HI YL 2 0HHI 50,000 10,000
01 A&l 50,000 10,000
OFOHOIA 2 = A&
10,000,000& * 14 10,000
OFREst=A MIIAEZ2A
10,000,000& * 14 10,000
OSMRE=A 10,000,000& * 14 10,000
OQER&E=A gt~ 3 At
10,000,000& * 14| 10,000
ORESR& =4 CCTVE X Z2AH
10,000,000& * 14 10,000
405 XtabF SHI 110,000 55,000
01 AIMNLEEFNS 110,000 55,000
oxs 28 +# 110,000
ox3E 15,000,000& * 14 15,000
oFBAMER 10,000,000& * 14 10,000
ocdl AR 10,000,000& * 14 10,000
ocRESR 60,000,000& » 14 60,000
o &0 AFA 15,000,000& * 14 15,000
2ENEUSHEH 29 20,000 0
308 AXISHMSOIHA 20,000 0
10 371250 UsZ CHEAFE HI 20,000 0
OZEMES K&
20,000,000& = 14 20,000
25 Sdsas 29 26,151 2,000
101 @121 16,151 1,000
04 J|I2ZtHZ2E2XNEE S 16,151 1,000
OxM=s2 &2l 16,151
oJlg2 54,900& + 198 » 230 12,627
oFFH 54,900 * 1H x 46 2,526
o\l Xt 54,900& ~ 198 » 11 604
clE - NMIHEHE
15,756,300& * 2.5% 394
201 LEt2 Y| 10,000 1,000
02 3s2g4| 10,000 1,000
O332=2 % HA 8,000
oXMIlea,dall S 8,000,000& * 14 8,000




A= 2o = 2A HsEaEl
g s
Sl 2N 54 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
OAZZHl |Xb 2,000,000 = 14l 2,000
HEdE 2 A X2 103,000 70,320 32,680
201 Lt 92,000 42,000 50,000
01 At 22l 82,000 32,000 50,000
OArR2t2ltl 82,000
o%AZ 03 XE L 2%
20,000,000& = 14 20,000
oAb 2 AXZ 12,000,000& = 14 12,000
oURFC YSEE L BD
50,000,000 =+ 14l 50,000
03 &Ar2 I 10,000 10,000 0
Ogsdz =i N& 10,000,000& = 14 10,000
202 04l 6,000 4,320 1,680
01 = LH 4 Hi 6,000 4,320 1,680
OMs&d =& 20,0008 » 5H » 53 » 128 6,000
203 YR =&l 3,000 3,000 0
03 AIMHF=XH R =AH| 3,000 3,000 0
OMSHAE AlMYE =z
3,000,000& = 14 3,000
301 et d=s 2,000 2,000 0
NJIEEd=s 2,000 2,000 0
Ogzgdz o XA 2,000,000 =+ 14l 2,000
d=H=CHE 15,000 13,000 2,000
307 glz2tol & 15,000 13,000 2,000
02 It M AHEE 15,000 0 15,000
Od=M=Ua 15,000,000& * 14 15,000
dIll=Ed XA 20,000 10,000 10,000
307 21201 A 20,000 10,000 10,000
04 QIZFHALAIH B = 20,000 10,000 10,000
O&dX=zgE XA 20,000,000& =« 14 20,000
sZUJ 3= -1 5703 120,000 120,000 0
307 21201 A 120,000 120,000 0
04 DIZHHALALSE E X 120,000 120,000 0
o2l &= 5,0 U=
120,000,000& * 14 120,000
8| A3 oA -0 5703 70,000 70,000 0
307 21201 A 70,000 70,000 0
04 QIZFHALAIH B = 70,000 70,000 0
OFEI dI0A 5,2 =EF1U3
70,000,000 = 14l 70,000




A= 2o = FM I HSEAED
Mo SIS
ol HEHS S4 CER-ED
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
SE2EI dI2E0HRUE 65,000 65,000 0
307 gl2tol & 65,000 65,000 0
04 DI2ZHHALALSE E X 65,000 65,000 0
O=&LEI &= clsor=2Ual
65,000,000& = 14 65,000
clE Ok tHal 15,000 5,000 10,000
307 21201 A 15,000 5,000 10,000
04 DIZHHALALSE E X 15,000 5,000 10,000
Oclg ok i3l &Jt  15,000,000& * 14 15,000
NS 290,000 290,000 0
307 gl2tol & 290,000 290,000 0
02 IZtE M AHE X 290,000 0 290,000
OHMb5238 LA RHMSUHE
290,000,000& * 14 290,000
ZATAEM=EUE 30,000 25,000 5,000
307 21201 A 30,000 25,000 5,000
02 I P A AL B X 30,000 0 30,000
OZd: 249M=U3 30,000,000& * 14 30,000
23 SH OtetE el 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 DIZHHALALSE E X 8,000 8,000 0
ORM262 Z3Sd OtetE HE
8,000,000& =« 14 8,000
3N FEE & -0 ==UH3 10,000 0 10,000
307 21201 A 10,000 0 10,000
04 DIZHHALALSE E X 10,000 0 10,000
02017 2=H 2 g -0 2 =U3
10,000,000& * 14 10,000
Z2EA =FHWS I Ha 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 DIV ALAIRI 2 X 2,500 2,500 0
OLEAN=ZHUZFI|
2,500,000& = 14| 2,500
ZEA OFREIEI M3 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
OZEAN0EaZI| tHal 8,000,0008 = 14 8,000
ZEANEI 23 5,000 5,000 0
307 21201 A 5,000 5,000 0




Zst2Z = FM I HSEAED
HN=dE
HeHs =4 (sl &2)
CRA - FB - BA(BH) - MEMY - BYS 0l &t o il HImEET
04 DIZHH AL AR 2 & 5,000 5,000 0
OHM103 ZEAEI 2ZU3
5,000,000& = 14 5,000
ZEANEI s4U3 8,000 8,000 0
307 glz2tol & 8,000 8,000 0
04 QIZFHALAIRIE & 8,000 8,000 0
OLEAEI S&UHE 8,000,000& * 14 8,000
ZSAEI BHEZ 3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QIZFHALAIH E = 30,000 30,000 0
OMosl ZSAEI HAZ U3
30,000,000& * 14 30,000
ZEH2HM 218 =37 HIIH 45,000 45,000 0
307 glz2tol & 45,000 45,000 0
04 DIZHHALALSE E X 45,000 45,000 0
OZEL2H 18 =7 EI|d
45,000,000& = 14 45,000
SHAEE 211 30,000 30,000 0
307 2201 A 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OsHAEE 21 30,000,000& = 14 30,000
JIEt Ul N (HMEHS) 45,000 45,000 0
307 glz2tol & 45,000 45,000 0
04 DI2HHALAISE E X 45,000 45,000 0
OJIet tal X& 45,000,000 = 14l 45,000
ZRAEZXAI = -5 S4U3 7,000 5,000 2,000
307 glz2+ol & 7,000 5,000 2,000
04 QIZFHALAIH B = 7,000 5,000 2,000
OHM18al ZRASTXAI =,858 S4US
7,000,000& * 14 7,000
ZREZXAD =S U3 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
04 QIZFHALAIH E = 5,000 5,000 0
OHM183l LRATXIAI =3
5,000,000& = 14 5,000
ZRASXAD =3l 2,000 2,000 0
307 glz2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
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000,000 2,000
XA 203 2,000 ,000
307 21201 & 2,000 ,000
04 RIZHHALAIH 2 = 2,000 ,000
OHM233 ZRAZXAD =23
2,000,000 A 2,000
ZRASXAD BHAE THE 2,000 ,000
307 glztol & 2,000 ,000
04 QIZ2HEHALALS B = 2,000 ,000
OHM22sl ZJEZXAI BHEZUS
2,000,000& A 2,000
ZRTXAD B3 2,000 ,000
307 clztol & 2,000 ,000
04 QIZ2HSHALALE B £ 2,000 ,000
ORM23a ZJA>EZXAD Z2EU3
2,000,000& Al 2,000
ZREESXAD 223 2,000 ,000
307 21201 A 2,000 ,000
04 QIZHHALALH B £ 2,000 ,000
OHM29sl & ETX A SEUE
2,000,000 Al 2,000
ZAEXAEE DIAHZRE dEial 1,000 ,000
307 21201 & 1,000 ,000
04 QIZHSHALALH B £ 1,000 ,000
OZJ S XA DIAHZE A2
1,000, 000& = 1,000
gis 54 991,612 ,454
Il 239,288
< 32,464
Al 719,860
dEH=s N 51,000 ,000
307 glz2tol ™ 51,000 ,000
02 HAHFHYAEEX 30,000 ,000
OZ= HEXXF= SIS LFAY
30,000,000& = 14 30,000
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MEHSE NI BHX 29 204,864 , 264




A2 252y A MsELE
g s
ool MENS S4 EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 102,432
Al 102,432
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J| 102,432
Al 102,432
02 It M AHE X 204,864 195,264 9,600
oMex=s X=X BiXl =294
25,608,000& » 89H 204,864
J| 102,432
Al 102,432
oza Msg2s XN 153,648 122,040 31,608
J| 76,824
Al 76,824
307 glz2+ol & 153,648 122,040 31,608
J| 76,824
Al 76,824
02 It HAMHEE 153,648 122,040 31,608
onza HMsgs XX BIXI
153,648,000& * 14 153,648
J| 76,824
Al 76,824
AEXAR 0IEH XNEAEY 85,760 51,540 34,220
J| 60,032
< 12,864
Al 12,864
301 et d = 85,760 51,540 34,220
J| 60,032
< 12,864
Al 12,864
01 MaI2EZE 405z 85,760 51,540 34,220
OAE=2% 0/8A XNAAY
85,760,000& * 14 85,760
J| 60,032
< 12,864
Al 12,864
HEHE 29 8,640 8,640 0
202 O4dl 8,640 8,640 0
01 = LH 4 Hi 8,640 8,640 0
OAZ=[0HE gR=2
20,000& = 3" * 128 123 8,640
MEHsSRY 29 19,200 0 19,200
< 9,600
Al 9,600
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= 9,600
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= 9,600
Al 9,600
Aol 8= HLAWMS 11,000 11,000 0
307 gizto| A 11,000 11,000 0
04 CIZ2tSHALALS B = 11,000 11,000 0
OHMI293] ot &= HILIAGSE
11,000,000& = 14l 11,000
M= It 22018 19,000 19,000 0
307 2izto| A 19,000 19,000 0
04 CIZ2tSHALALS B 19,000 19,000 0
OHM16a M2It= €23l
19,000,000& = 1Al 19,000
2P =2 BHECIE 43l 20,000 20,000 0
307 2Iz2to| A 20,000 20,000 0
04 CIZ2ISHAAISH E & 20,000 20,000 0
OHM133] HEHl d2HHEQEH U3l
20,000,000 * 14! 20,000
32U =2 K49 =72 3 150,000 150,000 0
307 2Iz2t0| & 150,000 150,000 0
04 SIZ2ISHAAISH E & 150,000 150,000 0
02017 2020 &8=2 K44 E32013
150,000,000 * 14! 150,000
ALHICH =90 3 3,000 3,000 0
307 212t0| ™ 3,000 3,000 0
04 SIZ2HSHAFAISHE E X 3,000 3,000 0
OHM173 ZEHICH =9 U3
3,000,000 = 14! 3,000
=2 A21AZH 43 15,000 10,000 5,000
307 QI2t0| & 15,000 10,000 5,000
04 CIZ2tSHALALS B = 15,000 10,000 5,000
OMB8E MZAZAIZH U3
15,000,000& = 14l 15,000
LAT HEA MEH= 3 20,000 12,000 8,000
307 2izto| A 20,000 12,000 8,000
04 CIZ2tSHALALS B X 20,000 12,000 8,000
Q2017 22 = HH2d M=
20,000,000 * 14! 20,000
20 ME S 50,000 50,000 0




2: 25222 SN S
H: STE
9 MEHE S4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
307 glz2tol & 50,000 50,000 0
02 PIZHEHAHEE 50,000 0 50,000
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50,000,000& = 14 50,000
Y 228 32X U= 5,000 5,000 0
307 21201 A 5,000 5,000 0
04 DIZHHALALSE E X 5,000 5,000 0
OUATU 2428 39X 223l
5,000,000& = 14 5,000
St 22 < HILANS 8,000 8,000 0
307 21201 A 8,000 8,000 0
04 QIZFHALAIH B = 8,000 8,000 0
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8,000,000 = 14l 8,000
ZRSXALDL B CH & 2,500 2,500 0
307 21201 A 2,500 2,500 0
04 QIZFHALAIH B = 2,500 2,500 0
OHM203 2& X ADl BHTHS
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ZRSXAD MEHZE 1,000 1,000 0
307 glz2tol & 1,000 1,000 0
04 QIZFHALAIH E = 1,000 1,000 0
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1,000,000 * 14l 1,000
ZEEXAI =203 3,500 3,500 0
307 glz2tol & 3,500 3,500 0
04 DIZHHALALSE E X 3,500 3,500 0
OHM183l ZRATXAI ERU3Z
3,500,000& = 14 3,500
ZEEXADI BHESIE T3l 2,000 2,000 0
307 gl2tol & 2,000 2,000 0
04 DIZHHALALSE E X 2,000 2,000 0
OHM18al LA XIAII BHESIE 3
2,000,000& = 14 2,000
ZRASXIAD THe2et0lE &l 2,000 2,000 0
307 21201 A 2,000 2,000 0
04 QIZFHALAIH B & 2,000 2,000 0
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2,500,000& = 14 2,500
ZEEXAI NEZ Hal 1,000 1,000
307 21201 A 1,000 1,000
04 DIZHHALALSE E X 1,000 1,000
OZJAZXAD MEZ U3
1,000,000& * 14 1,000
AKX AL E&20U3 2,500 2,500
307 21201 A 2,500 2,500
04 DIZHHAAL I 2 X 2,500 2,500
OHM178l ZAST XA ERU3F
2,500,000 = 14! 2,500
ZRSXAD HILIA CHE 2,500 2,500
307 21201 A 2,500 2,500
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OZ3E XAl HUA el
2,500,000& = 14 2,500
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< 10,000
Al 10,000
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O&= 28 &AM ANUS XA
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Al 10,000
FHAME 54 344,780 115,400 229,380
J| 80,430
Al 264,350
M =3 XA 129,920 61,400 68,520
307 120l & 99,920 61,400 38,520
02 IZHE M AHE L 68,720 41,000 27,720
OXoHel MEXIEZ X B XA
2,030,000& » 2% » 128 48,720
OM= I Xt 20,000,000& * 14! 20,000
03 QI HE2IEHEx 31,200 20,400 10,800
OFMeN=s 29 1,000,000& = 12& 12,000
Ogeasl 13,200
oMNARIH 1,000,000& = 12& 12,000
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405 TtHabF S| 30,000 0 30,000
01 AL EFSHSHI 30,000 0 30,000
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30,000,000& * 14 30,000
LT HOoHe M=sUs 28,000 24,000 4,000
307 glz2tol & 28,000 24,000 4,000
02 RIZFE MM E X 28,000 0 28,000
OM103 ZJ = HOQ M3
28,000,000& * 14 28,000
JIEF THE! JHE  EIHEMWMS) 26,000 30,000 A 4,000
307 glz2+ol & 26,000 30,000 A 4,000
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OJIE THal JH=l . &t 26,000,000& * 14! 26,000
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| 80,430
Al 80,430
307 21201 A 160,860 0 160,860
| 80,430
Al 80,430
02 HAFAANHFEX 160,860 0 160, 860
O ME =KX B X
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| 80,430
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201 LB-2E | 44,200 44,200 0
01 At 22l 25,000 25,000 0
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SHSAE W HEEEX MEE
10,000,000 * 14 10,000
SHEAE 272 22 15,000,000& * 14 15,000
02 3322l 19,200 19,200 0
O33=24gHl 19,200
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401 Al BIZ 201 8] 131,000 131,000 0
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< 185,000
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O=& HOIEESE M2+ 80,000,000& * 14 80,000
< 40,000
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330,000,000& * 14 330,000
Hdad 25 9 84 1,352,550 1,256,234 96,316
J| 275,510
< 6,275
Al 1,070,765
dad 84 1,302,550 1,216,234 86,316
J| 275,510
< 6,275
Al 1,020,765
Fad A ES 154,880 146,520 8,360
201 YEt2 Ayl 17,880 14,520 3,360
01 At 22l 7,880 4,520 3,360
OArR 22l 7,880
ocHAEUE €3 400,000& = 12& 4,800
ocHAUERRAS 3o
0,000& = 1Y « 43 3,080
03 &Ar2 Z I 10,000 10,000 0
OFAY BES(8DEH Y )
10,000,000& * 14 10,000
301 YA 2,000 2,000 0
09 &AL HI 2 &S 2,000 2,000 0
O&A24E 25 @A XA 2,000,000& = 14 2,000
307 21201 A 135,000 130,000 5,000
02 IZtEHAHE L 55,000 50,000 5,000
O3xd &3 XA 55,000
22017 Es4dE d4HIZAN W=
12,000,000& * 14 12,000
oI EANTSHE HEME BE
6,000,000& * 14 6,000
oZgotet A0t A= 7,000,000& * 14 7,000
°2017 =2 YV (HMEES)
10,000,000& * 14 10,000
odE d4d 4,000,000& = 14 4,000
o2017 a4 Y= ES(AII0F =4)
3,000,000& = 14 3,000
o0tg Hatol 3,000,000& = 14l 3,000
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A8 HAMY d%AHS 10,000,000 * 14 10,000
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Ooed X 19,662
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oFF4E 51,900& » 1 x 46 2,388
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9,740& * 40AI2t = 1€ = 11&E 4,286
oclE - MUMEE 2E2
19,180,900& * 2.5% 480
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oIt 51,900& = 18 » 11 571
o Al2Hel 4 g
9,740% * 1" * 40AI12F » 113 4,286
oclNg - (HMIEEZE 232
19,180,900& * 2.5% 480
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01 At 22l 24,096 22,936 1,160
Oget==EH| 15,740
CANRES 150,000& * 123 1,800
ostHA EF 300,000& = 12& 3,600
SARIII 222 150,000& * 12& 1,800
o HHEHl =2l 1,000,000 * 14 1,000
o2 A== 15,000& = 3& = 128 540
=Jl& B2 1,000,000& =* 23| 2,000
cZz Y EE=2 1,000,000& * 33l 3,000
= JIEt =&H| 2,000,000& = 14 2,000
Oogxtz 7,236
o3, &l 2,000,000& = 23] 4,000
o= 51,5003 = 2CH » 12& 1,236
o HA XHE 500,000& * 43 2,000
O= &l 1,120
o SZ20AH| 7,0008 * 2% = 80 1,120
02 =224l 30,560 30,660 A 100
Oz22= & HMA 23,360
oclIIR3 1,300,000& * 12& 15,600
oMot 23 100,000& » 12&8 1,200
oA 2oFM E 3l | 100,000& * 13| 100




AR 2aBBI SN HSEAED
Hm: HAW 25 2 84
ool HAW 84 CERED
A SA - SAEA) - MRAY - BES il HImEET
oXMIIotM HAZ 1,500,000 = 13l 1,500
cEFNME RE=S 100,000 * 23| 200
o ZHOIX X222 W=
180,000& » 12& 2,160
o ROIFHIAIAY EHZ 200,000& * 128 2,400
ocHAHEAALES I+l 200,000& = 13l 200
OA&EHl Sl 7,200
o HitE | 100,000& » 12& 1,200
o ARAIA 500,000& = 23| 1,000
cJIEt A2 =4 5,000,000& = 14| 5,000
03 A2 S HI 45,000 0
O&A2d Z20Y 2Y 30,000
o232 A 234l 25,000,000& 14 25,000
oHg&Es 23l 5,000,000& = 14 5,000
O3AHES XN 15,000
oXd HAEEH 24l
5,000,000 = 14l 5,000
ot NFHAES 2l
8,000,000& = 14l 8,000
oz 0tel 2g4| 2,000,000& = 14 2,000
301 gt d= 4,200 0
09 EAAHIEA S 4,200 0
O&FAYE Xl XN ZAH W= 0
600,000& = 29H 1,200
O&FAE AL I B4 1,000,000 =+ 34! 3,000
401 A& HIZ 2018 20,000 20,000
01 A& HI 20,000 20,000
OFAE2YE MHES SA
20,000,000& =« 14l 20,000
405 RHoHE S HI 11,800 150
01 AL EZFH S 8,800 150
OXMLESHSH 8,800
o&EI Y 200,000& =« 4CH 800
od thet) ¢ 2,000,000& = 1CH 2,000
oy AFHPY 1,500,000& * 20K 3,000
o2oa TV Y 1,000,000 * 1CH 1,000
SHMEII(E2EANLYIN) 2,000,000& * 1CH 2,000
02 =M=l 3,000 0
O M=l 2,000
oMY 10,0008 * 200& 2,000
Oosg gaiz 500,000& * 23 1,000
HrE S8 NFHA 75 N2 90, 100 2,430




A= 2o = FM o HEEAE]
. HaAd 25 2 R4
ool HAW 84 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
Jl 45,050
Al 45,050
307 glz2tol & 90,100 87,670 2,430
J| 45,050
Al 45,050
11T M SXASEEX 90,100 87,670 2,430
OFad SEXNEHA 2= XN
90,100,000& * 14l 90,100
J| 45,050
Al 45,050
FdadE H=E0tE 29 27,750 28,000 A 250
J| 11,100
< 2,775
Al 13,875
307 glz2+ol & 27,750 28,000 A 250
Jl| 11,100
< 2,775
Al 13,875
04 DI2HHALAISE E X 27,750 28,000 A 250
OFAE H=280teg 2F  27,750,000& = 14! 27,750
J| 11,100
= 2,775
Al 13,875
FA4 s0tel 23 XA 15,000 15,000 0
J| 6,000
< 1,500
Al 7,500
201 Let24d] 15,000 0 15,000
J| 6,000
< 1,500
Al 7,500
03 #AL2EHI 15,000 0 15,000
O&¥ad sotel s XA
15,000,000& * 14 15,000
J| 6,000
= 1,500
Al 7,500
a4 Ad23dH X 22 142,540 137,482 5,058
J| 71,270
Al 71,270
307 21201 A 142,540 137,482 5,058
J| 71,270
Al 71,270
11T MISRASEX 142,540 137,482 5,058
OFAad H2stdH &X
142,540,000& * 14 142,540
J| 71,270
Al 71,270




A2 252y A MsELE
M HAaE ES L |4
ool HAW 84 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
HAE SEL MY 29 68,860 68,860 0
9] 34,430
Al 34,430
307 gl2tol & 68,860 68,860 0
b] 34,430
Al 34,430
11T AIS S RAEE = 68,860 68,860 0
OFAYE SEX A 29
68,860,000& * 14 68,860
J| 34,430
Al 34,430
23 AU SEAE Z208 2F 2,000 4,000 A 2,000
J| 1,000
Al 1,000
201 Let249H] 2,000 4,000 A 2,000
J| 1,000
Al 1,000
03 AH2 I 2,000 4,000 A 2,000
OB2HAESVAL T2y 29
2,000,000& = 14 2,000
J| 1,000
Al 1,000
FadE FHAR}S 29 2,800 2,800 0
J| 1,400
Al 1,400
201 Let24d] 2,800 2,800 0
ol 1,400
Al 1,400
03 AH2 I 2,800 2,800 0
O&FAY HWAAS 2 2,800,000& = 14 2,800
9] 1,400
Al 1,400
HAEXNE A BHX K& 42,720 41,280 1,440
J| 21,360
Al 21,360
101 @144 dl 42,720 41,280 1,440
J| 21,360
Al 21,360
04 JIZtHZ2XEES 42,720 41,280 1,440
OFAYUXSZ A BRI XI&  42,720,0008 » 14 42,720
J| 21,360
Al 21,360
SSTEANE FAE IS 24 4,000 4,000 0
J| 2,000
Al 2,000
201 Let2d] 4,000 4,000 0




A= 2o = FM o HEEAE]
. HaAd 25 2 R4
@ HAaE |4 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlnE2
Jl 2,000
Al 2,000
03 &Ar2 I 4,000 4,000 0
OFAY 233 242 4,000,0008 = 14 4,000
J| 2,000
Al 2,000
st & HAE X 117,000 69,000 48,000
J| 81,900
Al 35,100
307 21201 A 117,000 69,000 48,000
J| 81,900
Al 35,100
11T MISXASEEX 117,000 69,000 48,000
Osgtw & 44 X& 117,000,000& * 14 117,000
J| 81,900
Al 35,100
FdAESEH 223 5,760 5,760 0
202 O4dl 5,760 5,760 0
01 = LH 4 Hi 5,760 5,760 0
OHAW 28 =&
20,0008 = 6 * 43| » 123 5,760
dad FMLFE 294 4,000 0 4,000
< 2,000
Al 2,000
301 LA Z 4,000 0 4,000
= 2,000
Al 2,000
09 A HIE &S 4,000 0 4,000
O&FAaY Z MR 4,000,000 =+ 14l 4,000
< 2,000
Al 2,000
H o=@ 2 50,000 40,000 10,000
A oHe=EHF HE > 50,000 40,000 10,000
401 Al HI K 201 I 50,000 40,000 10,000
01 A& HI 49,500 39,500 10,000
OFHIE2 BIotE e AX 49,500,000& » 14 49,500
03 A& =2 THHI 500 500 0
OFHIE2 HIJIE2AIE R0
500,000& * 14 500
#Y2HIH(MESHEAEDL) 35,220 32,280 2,940
2l 35,220 32,280 2,940
=2l 35,220 32,280 2,940
201 Let24E] 22,140 20,460 1,680
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22,140

16,540
3,500
3,880
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A3 253 SN BASED
HE: BASSHE P
Chel: BMetET Al 24835 (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
OOHLIM = 20,0008 * 4AI2+ » 32 » 22 5,280
OOLIN wEH| 20,0002 » 223 440
OJIEt2g | 300,000 * 70H 2 2,100
& STAEH3 2F 3l 7,100 6,000 1,100
o bl 7,100 6,000 1,100
=U A b 7,100 6,000 1,100
OZEMSIS T Al MOILE &4
150,000& » 2H =« 43| 1,200
OBMSs ZRAMY U S5 &A
200,000& = 2% « 23| 800
OBMSIESTA A8 U 24T
200,000& = 2% « 23| 800
OSoI= Fysts 22sl &0t
250,000& » 49H 1,000
Ogdsts 3o &4 100,000& = 1H = 53] 500
OmMss Jj2le +8
0,000& = 5% = 283 2,800
3 N2 243t ¥ 2 AEY 2,711,715 2,483,506 228,209
= 3,240
Al 2,708,475
o Z A5 349,590 352,000 22,410
= 3,240
Al 346,350
FM2Y 259,790 258,400 1,390
2 B2 | 83,790 60,490 23,300
At 2t el i 21,290 20,290 1,000
OEHZ2YSANE FHLY
70,000 * 79 x 23| 980
OtM=¢ 70,0003 * 4% = 23| 560
OASI2ZE ZAt=E 50,0003 » 15H * 253 18,750
OJIEt==EHI 1,000,000 = 14! 1,000
A2 62,500 40,200 22,300
SEAEZZ208 2% 50,0003 x 10¥ * 143 7,000
og=20z=21Y 29
50,000& = 10¥ = 253l 12,500
OSAEE Z2¥ 29
50,000& = 10 = 143l 7,000
OFUACNZ Z208 29
50,000& = 6H = 103l 3,000
oMz E43 2208 29
50,000& = 10 = 143l 7,000
OZ21Y 29 Mz7¢ 50,0002 * 203l 1,000
OFPHANS T2y 29
50,000& = 109 * 203l 10,000
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AZ: 2523 SN BASED
M ZBEHD BHE YL SHCAES
S AEENZ 2823 (&)
CRA - FB - BA(BH) - MEMY - BYS 0l &t o il HImEET
o ME CIHY AMAEZ 900,000& * 123 10,800
o= 0loIE AEE 600,000& = 14 600
oBHEEQE MEE 600,000& * 14 600
c0lsEAME QHY AEE
50,000& = 12& 600
OA&ZEHl S X bl 56,640
cABENZ SHOIX |X 2
320,000& = 12& 3,840
oM ESHOIX RX2a
360,000& = 103 3,600
cHMIEZAMZ R 2e 800,000& * 123 9,600
o M2 MH SX&ecl 2,200,000& * 122 26,400
oRFID &Hl A&l 950,000& = 12& 11,400
ocgeasll wA2e 150,000& * 123 1,800
OXMAMAdZZ08d RA2e
150,000 » 204 « 12& 3,600
OEMZ2ZZ2 0 KA
750,000& = 12& 9,000
OFHZENZ JESZD| SR 22
10,0008 * 123 120
03 &AL Gl 1,000 0 1,000
OWE it A2 2 1,000,000 * 14 1,000
401 Al HIZ 201 I 140,000 110,000 30,000
01 A& HI 140,000 110,000 30,000
OANBEENZ AMESE RXES
140,000,000& * 14 140,000
405 XHoHF S HI 428,500 504,100 AT75,600
01 HatE ESFH S 115,000 138,700 A23,700
OFTEEN 0I8XE ZFH #
1,500,000& * 20CH 30,000
OFTEEL 0I8XE SAI| 7
4,000,000& = 1CH 4,000
OXNEEA &2 S/WL  200,000& = 5004 10,000
O M ZHe SHMEXDID 2
10,000,000& * 14! 10,000
Otz 2¢ 15,000,000& * 24! 30,000
OXE2E M2 ItE 2lddl 7
500,000& = 6CH 3,000
OMEEZI 7¢ 1,500,000& * 10& 15,000
OMItFL (== AILWA) 1,300,0008 = 10K 13,000
02 =M=l 313,500 365,400 251,900
ONEs2doM2 ST
15,000& * 3,500 52,500
O ME THA7Y 15,000& * 3,500& 52,500
OX2EN2 TAHA2Y 15,000& * 7,000 105,000




AZ: 2523 SN BASED
M ZBEHD BHE YL SHCAES
S AEENZ 2823 (&)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OOSCNZE CH7Y 15,0002 * 2,000 30,000
OBYTH 7 15,0008 * 2002 + 12 36,000
OR2EAHZ FOEN 7
20,000& = 1,000 20,000
Oot=2steMd ¢ 20,000& = 500 10,000
Og&E & ZEXHI} HEF 7¢
15,0002 * 500& 7,500
AKX 22 1,232,802 1,095,566 137,236
101 @124 dl 12,080 11,400 680
04 D12t Z2XREES 12,080 11,400 680
OMZ % ZZ22 A2y
60,4003 = 2% = 10 » 103 12,080
201 ¢et24] 872,822 835, 266 37,556
01 At 2t 2l 83,590 83,590 0
O e8| 57,200
o #EHEH|I S Xl 400,000& = 12& 4,800
oML A2E 3,500,000& * 12& 42,000
oJIEt HAAES 400,000& = 123 4,800
= JIHEHEl SXdl 300,000& = 12& 3,600
o A& =R A2l 500,000& = 43| 2,000
O<fIEu=Hl 560
ogtgtel At W= 160,000& * 23] 320
oS AJtA Ot et W=
240,000& = 14 240
o1l =l 70
oZArZel Xk I =Hl 35,0008 * 1€ * 23] 70
Ogxtz 5,760
ocN4&&EH 2XE 640,000&  3CH = 33 5,760
O &2 20,000,000& =« 14 20,000
02 =224l 789,232 751,676 37,556
02323 % HA 292,458
ocRHEAESR 16,000& * 2JH 4 + 12& 384
oA . 2F HIINER
4,500,000& * 2002 = 128 108,000
o2 N MIZ
500,000& = 1004 « 123 60,000
ST AINAAMNEE 170,000& » 128 2,040
oAE,2F & otk AMEZ
600,000 * 204 = 128 14,400
oX2ENE & otk AEE
30,000& * 60 * 128 2,160
o Xt = XAl 400,000& = 204 800
oAE, 28 H3XE =HE
2,000,000& * 200 £ 4,000
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2sp= SN BasED
ST M2 245 2 23EAEA
NEEAZ 23235 (Sl & &)
- _ — d =
RRA B BN NRAY - BES 0l &k o4 e HlnE2
cD= WUBAILE SAZ%
18,000& = 7501 = 12& 16,200
SNE WLEBAIAE 224
18,000& = 2101 = 123 4,536
o2& UKl 15,838,000 14 15,838
O Xt 6,000
c0lsEM2 ¥ =321
3,000,000& = 2CH 6,000
OEM2FAES A2/
430,000,000& = 14 430,000
206 M= Hl 21,900 21,900 0
01 M= 4l 21,900 21,900 0
Ox==228 M+ 600,000& * 7oA 4,200
O=A3& 22 M= Hl 300,000& * 7042 2,100
OHEE Z 7¢ 400,000& = 702 = 33 8,400
O== d=ofl &M 800,000& » 3M2A = 33 7,200
401 AIEHI L 2 CHYI 286,500 180,000 106,500
01 A& HI 286,500 180,000 106,500
22 XSTHB NS RN
286,500,000 » 14 286,500
405 TtabF S| 39,500 47,000 A7,500
01 AL ESH SHI 39,500 47,000 A7,500
OMEEZHI ¢ 1,500,000& * 10& 15,000
OMIIRY (22 L RS A )
1,200,000& * 107K 12,000
OFAr2el H&+7¢ 150,000& * 20& 3,000
OHZZHME g MsSAJR(LSE)
8,000,000& * 1MIE 8,000
O2=2 zha =ES 28 1,500,000& = 104 1,500
NEENMZ 2Z23 2 B 7,200 7,200 0
202 4dl 7,200 7,200 0
01 = LH A HI 7,200 7,200 0
OENM2 28 HRF& 0l
20,000% * 6" * 602 7,200
IREAl =24 & #4535 235,500 106,550 128,950
AIEEANE=EAY 81,900 84,950 A 3,050
201 et 47,900 50,950 A 3,050
01 At 221l 17,900 15,950 1,950
O M& & 22| 10,000,000& * 14 10,000
OF&AJs &= 70,0008 » 11 ~ 43 3,080
OZFSAAS (UH2E) BN+
70,0003 = 269 = 13 1,820
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2,000

1,000
1,000
1,000

40,568

40,568

40,568

40,568

40,568

H3r
Wikd
RIS

4,000

2,000
2,000
13,000
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13,000

10,000
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6,000
6,000
6,000

290,177

267,732

267,732

267,732
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Off &t 24
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6,000
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